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Scheduler

Runs as a part of the Main Processing Cycle

Executes a number of specific tasks, but not 
all

2lunes, 9 de septiembre de 13



Scheduler
Main Processing 

Cycle (MPC)

Scheduler

Signal a clock’s tick (if it’s time)

Schedule tasks (move tasks from Future 
Queue to Current Queue), if not already done

Execute tasks from Current Queue

Service network & UI

Execute any task left to execute

yes

no

Scheduler cycle

Was 
there any 
activity

?

According to minimum-scheduling-
interval and scheduler-mode

idle up to 1 s or the next future task
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Clock Tick Length

Tick

Schedule tasks 
(move them from 

FTQ to CTQ)

Execute tasks in 
CTQ

Service Network 
& UI

Execute 
deferred tasks, 

if any
Idle, if possible

Tick

Clock Tick Length

In time: 

Main Processing Cycle is 
accomplished before the time 
to tick the G2 clock. There is 
an idle time because no 
oustanding or new tasks 
need to be executed at the 
end of the cycle

Minimum-scheduled-interval
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Clock Tick Length

Tick

Schedule tasks 
(move them from 

FTQ to CTQ)
Execute tasks in CTQ Service Network & UI

Execute 
deferred tasks, 

if any

Tick

Clock Tick Length

Just in time:

Main Processing Cycle 
executes everything 
exactly in time, so there 
is no idle time.

Minimum-scheduled-interval
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Clock Tick Length

Tick

Schedule tasks 
(move them from 

FTQ to CTQ)
Execute tasks in CTQ Service Network & UI Execute deferred 

tasks, if any

Tick

Clock Tick Length

Delayed:

Scheduled tasks (those brought from the Future Tasks Queue) took 
longer to execute, as well as servicing the network and the UI.

Further more, there were also deferred tasks that needed to be 
executed. All this pushed the clock tick to be signaled later than 
expected, and so its length was greater than the previous 
examples.

Minimum-scheduled-interval
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